Exercise 10: Plight of the Polar Bear

The polar bear (Ursus maritimus) occurs throughout the circumpolar region on the arctic, with
their southern range being determined by the amount of sea ice. They rely heavily on sea ice for
almost everything: for feeding, breeding, movement and raising young. The long-term
persistence of polar bears is threatened by climate change because warming of the arctic region
has meant a drastic reduction in sea ice. Reduction in sea ice has adversely affected both survival
and reproduction, threatening survival of these beautiful creatures. Under the “business as usual”
scenario (i.e., if we do nothing to reduce carbon emission), climate change models predict
significant warming of the arctic, and drastic reduction in sea ice. A big question then is: what
does future hold for polar bears? In an attempt to address this question, Hunter et al. (2010)
applied multistate capture-mark-recapture (CMR) models to data collected during 2001 — 2006,
and estimated demographic rates for the female segment of a polar bear population in the
southern Beaufort Sea (off the coast of Alaska). They used these parameters to construct and
analyze stage-structured, deterministic and stochastic matrix population models.
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Population projection matrix for each year of the study are given in the associated R file
(matrices, A200X, where X is a year of study).

Basic exploration.... Perform basic matrix model calculations and provide the following
information (and answer the questions) (Part I of the code):

1. What are the annual population growth rates? When did the polar bear population grew at
the highest and the lowest rates? Plot the population growth rates for each year of the
study.

2. Calculate year-to-year differences in population growth rates, and plot the results. When
did the largest change in A occur?

3. Calculate the mean, standard deviation, and range of A across years. What conclusions
can you draw based on these results?

Stochastic demography: estimating long-term growth rate of the polar bear population in
an stochastic environment (Part Ib of the code)

4. Calculate stochastic growth rate (Tulja’s approximation, as well as simulations + CI)
assuming that (use maxt >10000):
a. Each year (i. e., matrix) occurs with equal probability
b. The first year of the study occurs more frequently than other years
c. The last year occurs more frequently than the other years

What conclusions can you draw from these results?
Understanding year-to-year changes in A: Fixed effect LTRE analysis (Part 11 of the code)

5. Perform 1-way LTRE analysis, comparing population projection matrix for each year
with that in the previous year. Examine the relevant results. How good was your LTRE
model? How do you know?

6. The biggest change in A occurred during 2003 - 2004, a drop of 0.27! So, let’s just focus
on understanding what caused that decline.

a. Which entry of the projection matrix made the largest contribution to this decline?
How do you know?

b. Was this decline because of big change in the value or due perhaps to some other
reasons? You will have to examine matrix of differences, contribution matrix and
perhaps the sensitivity matrix (of the mean matrix) to answer this question.

As a reminder, here are the relevant formulas for fixed-effect 1-way LTRE analysis:
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contribute to AA: Fixed effect LTRE analysis with lower-level parameters (Part 111 of the
code)

.Understanding how year-to-year changes vital rates

7. Calculate and plot sensitivity and elasticity of A to changes in lower-level vital rates for
the year 2001. Which vital rate A is most sensitive to on absolute scale (sensitivity) and
proportional or log scale (elasticity)?

The life-cycle graph to aid in interpretation of the above results:
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Polar bear life cycle graph: oi is the probability an individual in stage i survives from timettot +
1, oLo and ov1 are the probabilities that at least one member of a cub-of-the-year or yearling litter,
respectively, survives from time tto t + 1, f is the expected size of a yearling litter that survives
to 2 years, and [ is the conditional probability, given survival, of an individual in

stage i breeding and thereby producing a cub-of-the-year litter with at least one member
surviving until the following spring.
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